
Magne&c	
  Field	
  Measurements	
  Using	
  Vblock:	
  
•  Data	
  from	
  measurements	
  taken	
  by	
  Kabir,	
  Chris	
  H.,	
  Eric,	
  etc.	
  for	
  

various	
  orienta&ons	
  of	
  the	
  fluxgate	
  within	
  the	
  Vblock	
  
•  Chris	
  Crawford’s	
  model	
  takes	
  the	
  fluxgate	
  data	
  and	
  converts	
  it	
  to	
  

magne&c	
  field	
  measurements	
  in	
  our	
  experimental	
  coordinate	
  system	
  
(Bx,	
  By,	
  Bz)	
  

•  Results	
  shown	
  here	
  are	
  for	
  By	
  measurements	
  with	
  one	
  of	
  the	
  shim	
  
coils	
  adjusted	
  at	
  a	
  &me:	
  
•  As	
  a	
  func&on	
  of	
  posi&on	
  in	
  Vblock	
  (slide	
  2)	
  
•  As	
  a	
  func&on	
  of	
  current	
  in	
  the	
  shim	
  coil	
  (slide	
  3)	
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  (measured)	
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  (standard	
  NPDG	
  Se_ngs)	
  
as	
  a	
  func&on	
  of	
  posi&on	
  on	
  Vblock,	
  with	
  one	
  
shim	
  coil	
  changed	
  at	
  a	
  &me	
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